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I 7 mwn: sons and daughters are (equally?) included in nom
a  meaning: sons and daughters relate to father’s and mother’s estate in the same way
b Limitation: a son takes a double-portion in father’s estate, not from mother’s estate
¢ Limitation: a daughter is fed from father’s property but not from mother’s property
i Sources:v.1-pnw-ais given as a single unit (e.g. if 5 brothers, divide into 6 portions, 7131 getting 2)
1 Challenge: perhaps it means that he gets double of all property
(a) Answer:just as if he divides with another brother, he gets 2 portions; similarly, if there are 5
2 Challenge: read analogy in the other way —just as with one brother, he gets twice as much...
(a) Answer: v. 2 expands nom for other brothers
(b) 7272 adds vv. 3-6
(i) ©3: infer Ma2::791 from v. 1
(ii) ov4:infer n192::7721 from end of v.1
(iii) v5: he gets one extra portion, not twice as much of the property
1. »an5 9”1 maybe this just means one extra tree
2. Answer:v.7 indicates two full portions for qoy
(iv) v6: explains that nwpy 290 refer to n%»am, not by the sword
II  Aggadic excursus about apy» 112
a  Question: why did apy take the n1 away from 12187? (answer: v. 3!)
b Rather: why did he give it to qov?
i Answer: M31 should be from 5m (v. 8), but due to NRY’s N> an (v. 9, in spite of v. 10! - v. 11 — v. 12), j2187
ii  Nonetheless: Yn7’s mynx (the 1invo — vv. 13-15) merited it back to her
1 Tangent: the missing family member in 1 mwxIa (vv. 16-18)
¢ Question: v. 19 — why did apy’ choose to leave when 9oy was born?
i Answer: he saw that Yoy would be defeated by qov (v. 20)
1 Challenge: v. 21 (117 — from N’ — beat pYny)
2 Answer: v.22 - he had nwin »1 with him
3 Challenge: v. 23 — they were from nynw
4 Answer: (see R"2v11 for prooftext) — they were really from nwin
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